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Parallel Circuit

Whiteboard Px'ob’ﬁjen;s s

1. In the circuit diagram below, what are the correct readings of
voltmeters V) and V,?
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2. The diagram below represents part of an electric circuit
containing three resistors. '
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What is the equivalent resistance of this part of the circuit?

3. Base your answer to the following quesﬁon on the circuit

diagram below.
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4. What is the fotal current in a éircconsisting o@aperaﬁng
al

100-watt lamps connected in parallel to yolt source?
)
5. A physics student is given three 12-ohm Tesistors with

instructions to create the citcurt that would have the lowest
possible resistance. The correct circuit would be a
(1) series circuit with an equivalent resistance of 36 ?
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% ";qﬂ‘ O"\ﬁ (2) series circuit with an equivalent resistance of 4.0 Q?
e V‘v \ 3) parallel circuit with an equivalent resistance of 36 Q?
X4y @ parallel circuit with an equivalent resistance of 4.0 Q?
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Lo </ 6. Ifa 15-ohm resistor is connected in parallel with a 30.-ohm
(¥ S XM Lesistor, the equivalent resistance is

current in the circuit?
(1) Both equivalent resistance and total current decrease.
2) Both equivalent resistance and total current increase,
@ Equivalent resistance decreases and total current increases.
) Equivalent resistance increases and total current decreases.

8. Base your answer to the following question on the diagram
below, which shows two resistors and three ammeters connected
to a voltage source.

7. Asthe numwb_ewighr\sig a parallel circuit is increaged, what %9
happens to the equivalent resistance of the circuit and total (o/\, ? p
¥

What is the current reading of ammeter 4, ? @ g

9. In the diagram below of a parallel circuit, ammeter 4 measures
the current supplied by the 110-volt source. . 3

C

\
20.Q 230.0360. Q————
: |

110-V
source

B~

The current measured by ammeter A4 is @

10. In the circuit at the right, if an ammeter is moved from position 1
to position 2, the current measured will

(3) remain the same
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